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Read the following instructions carefully before you begin to attempt the questions.

INSTRUCTIONS TO CANDIDATE

(1)  This booklet contains 100 Questions.

CBT I (Mathematics, Mental Ability, General Science & General Awareness) (100 Questions)

(2) All the questions are compulsory and carry equal marks.

(3) Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages
and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced
immediately.

(4) Each question carries negative marking also as 1/3 mark will be deducted for each wrong answer.

(5) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by Black/Blue ball pen only.

(6) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

(7) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do
not spend too much time on any question.

(8) Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means
in the examination and action will be taken against them including cancellation of their candidature.

(9) No rough work is to be done on the Answer-Sheet.

(10) No candidate can leave the examination hall before completion of the exam.
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CBT | (Mathematics, Mental Ability, General Science & General Awareness)

In a certain code language ‘Sachin is great’ is written
as ‘ga ma ra’, ‘is he poor’ is written as ‘ta sa ga’, then
find the code for ‘is’?
(A) ta
(C)ga

The battle of Wandiwash (1760) was fought between

(B) ma
(D) ra

(A) The Marathas and the Portuguese
(B) The British and the French

(C) The British and the Portuguese
(D) The Marathas and the English

Wankhede Stadium is situated in .
(A) Chandigarh (B) Chennai
(C) Mumbai (D) Bengaluru

Temperature can be expressed as derived quantity in
terms of .

(A) Length and mass (B) Mass and time

(C) Length, mass and time (D) In terms of none

Sambhar salt lake is situated in ’
(A) Tamil Nadu (B) Odisha
(C) Rajasthan (D) Bihar

What is the least number which, upon being divided
by 2, 3, 4, 5 and 6 leaves in each case a remainder of

1?

(A) 31 (B) 61

(C) 91 (D) 121

From the following which one is NOT a tool of Fiscal
Policy?

(A) Taxation (B) Public Expenditure

(C) Interest Rate (D) Public Debt

If ‘=" denotes ‘x’, ‘+’ denotes ‘+’ and ‘+’ denotes ‘',
then what will be the value 8 +9 + 7 =+ 6 — 3?7

(A) 21 (B) 24

(C) 28 (D) 30

Three pipes A, B and C can fill a cistern in 6 hours.
After working together for 2 hours, C is closed and A
and B fill the cistern in 8 hours. Then what is the time
(in hours) in which the cistern can be filled by pipe C?
(A)8 (B) 12
(C) 10 (D) 16

Formation of anions occurs by :
(A) loss of neutrons (B) gain of protons
(C) gain of electrons (D) None of these

What is the number which, when subtracted from the
ratio 11 : 23 makes it equal to the ratio 3 : 77

(A) 2 (B) 4

(€)1 (D)5

What is the Highest Common Factor of 132, 204 and
2287
(A) 12
(C)6

(B) 18
(D) 21

13.

14.

15.

16.

17.

18.

19.

20.

Taking any three of the line segments out of
segments of length 2 cm, 3 cm, 5 cm and 6 cm, the
number of triangles that can be formed is

(A)3 (B) 2

(C)1 (D) 4

What is the value of ETsa~10%g ?
25+¥5%x2

(A) 30 (B) 10

(C)3 (D)6

If the temperature of a patient is 40°C. This
temperature on fahrenheit scale will be
(A)72°F (B) 96° F
(C) 100° F (D) 104° F

A milkman sells 120 litres of milk for ¥ 3360 and he
sells 240 litres of milk for ¥ 6120. How much
concession does the trader give per litre of milk, when
he sells 240 litres of milk?
(A)X 2

(C)x25

(B)Z 35
(D)3 15

Where was the Lighthouse Tourism Conclave 2024,
held to mark the start of the 2nd National Lighthouse
Festival, organized?
(A) Kochi, Kerala
(C) Puri, Odisha

(B) Mumbai, Maharashtra
(D) Chennai, Tamil Nadu

In terms of the railway system India's position in the
world is

(A) First
(C) Third

(B) Second
(D) Fourth

The difference between the present ages of Arun and
Deepak is 14 years. Seven years ago the ratio of their
ages was 5 : 7. What is Deepak's present age?

(A) 49 years (B) 42 years

(C) 63 years (D) 56 years

Which is the correct combination of mathematical
signs to replace * signs and to balance the given

equation.

9*3*3*3*6

(A) +x—= (B)+—-x=
(C)-++= (D) x +-=

Direction 21 to 23: Select the related word/letter/number from

21.

22.

23.

the given alternatives.

Mars : Planet:: ?: ?
(A) Earth : Orbit
(C) Meteorite : Star

(B) Saturn : Earth
(D) Moon : Satellite

VXZ:JLN::GIK:?

(A) @SO (B) QRS
(C) uwy (D) LMO
63:80::120:7?

(A) 125 (B) 143
(C) 170 (D) 180
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Mirage is observed in a desert due to the
phenomenon of

(A) Interference

(B) Total internal reflection and refraction of light

(C) Scattering

(D) Double refraction

A sum of ¥ 2668 amounts to X 4669 in 5 years at the
rate of simple interest. What is the rate percent?

(A) 15.2% (B) 14.9%

(C) 16% (D) 15%

A man completes 30 km of a journey at 6 km/hr and
the remaining 40 km of the journey in 5 hours. What is
his average speed for the whole journey?

(A) 7 km/hr (B) 8 km/hr

(C) 9 km/hr (D) None of these

Electron affinity of noble gasesis
(A) Almost zero (B) Low
(C) High (D) Very high

In a certain code language, ‘TOWER’ is written as
‘98126’ and ‘PARTY’ is written as ‘47693’. What is the
code for ‘WATER' in that code language?

(A) 17926 (B) 21796

(C) 17962 (D) 12976

Electricians use rubber gloves while working because

(A) Rubber is an insulator

(B) Rubber is a good conductor

(C) It is easy to work while wearing gloves
(D) None of these

The area of a triangle with three equal sides is 3V3 sq
cm. What is its perimeter?
(A) 6v3 cm

(B) 2V3 cm
(C) 5V3 cm

(D) 7¥3 cm

Which numbered space in the diagram below
represents doctors who are players as well as artists?

Players /
Doct
S —>ﬂa 2 |._Doctors/
NIZETE D
| < Artists /
EASIEES
(A) 2 (B) 3
(C)6 (D)7
Cinnabar is an ore of 3
(A) Ag (B) Au
(C) Zn (D) Hg

A man sells an article at a profit of 20%. If he bought it
at 20% less and sold it for ¥ 75 less, he would have
gained 25%. What is the cost price?
(A) X 350 (B) ¥ 360
(C)% 375 (D) % 420

Which diagram correctly represents the relationship
between Chapter, Book, Topic?

35.

36.

(A) @ (B)
@ CUD

(D)

QO

In a certain code language, ‘WEIGHT’ is written as
‘XDJFIS’. What is the code for ‘SPORTS’ in that code

language?
(A) TOPQRU (B) TPOQUR
(C) STOQUR (D) TOPQUR

The present ratio of ages of Aand Bis 4 : 5. 18 years
ago, this ratio was 11 : 16. What is the sum of the
present ages of A and B?
(A) 90 years

(C) 110 years

(B) 105 years
(D) 80 years

Direction 37 to 39: Study the following pie chart and table

37.

carefully to answer these questions. Details of the
number of students studying in graduation from seven
institutes.

Total number of students from seven institutes = 4800
Ratio of male students to female students

M:F
A 7:9
B 5:4
C 57
D 6:5
E 3:5
F 7:4
G =9

What is the ratio between number of female students
in institute D and of male students in institute B?
(A)3:2 (B)3:5

(C)2:3 (D)3:7

A
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Total number of students studying in institute B is
what percentage of the total number of student
studying in institute E?

(A) 150% (B) 66%%
(©) 33%% (D) 120%

What is the ratio between number of male students
from institute F and that of female students from

institute E?

(A)3:4 (B)5:7

(C)4:7 (D)7:5

Which is the folk dance of Kashmir?

(A) Bhangra (B) Dumhal

(C) Nautanki (D) Gaudiya Nritya

Arrange the following words in a meaningful order?

(1) Honey (2) Flower

(3) Bee (4) Wax

(A)1,3,2,4 (B)2,1,4,2

(€)2,3,1,4 (D)4, 3,2, 1

If 16a + 16b = 672, then what is the average of a and
b?

(A) 44 (B) 21

(C)24 (D) 42

Heavy water is used as a moderator in a nuclear
reactor. The function of the moderator is :

(A) to control the energy released in the reactor

(B) to absorb neutrons and stop the chain reaction

(C) to cool the reactor

(D) to slow down the neutrons to thermal energy

Directions 44 to 47: A series is given with one term missing.

44,

45.

46.

47.

48.

49.

Select the correct alternative from the given ones that
will complete the series.

Z, X, U,QlL?
(A) F (B)E
()G (D)H
230, 246, 271, 307, ?

(A) 412 (B) 356
(C) 518 (D) 612
D,F,H,J,?2

(A) K (B)L
(C)M (D)H
AZY, EXW, IVU, ?

(A) MTS (B) MQR
(C) NRQ (D) LST

The Ram'’s age is twice the age of Shyam and half the
age of Sohan. Shyam is elder than Mohan. Who is the

eldest?

(A) Mohan (B) Ram

(C) Sohan (D) Shyam
(0.6)°+(0.5)’

3
What is the value of =%(2)" 2

(0.5)*~0.3+(0.6)

50.

51.
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(A) 4.8
(C) 0.61

(B) 0.30
(D) 8.8

In a row of students, A is 7t from the left while J is
18" from right. Both of then interchange their
positions such that A becomes 21st from left. How
many people are there in the row?
(A) 38 (B) 39
(C) 40 (D) 37

A telegraph port is bent at a point above the ground.
Its top just touches the ground at a distance of 8Y3 m
from its feet and makes an angle of 30° with the
horizontal. What is the height (in metres) of port?

(A) 12 (B) 16

(C) 18 (D) 24

Direction 52 and 53: Read the following information carefully

52.

53.

and answer the questions given below.

I. ‘A + B’ means ‘A is the son of B’

Il. ‘A — B’ means ‘A is the wife of B’

IlI. ‘A x B’ means ‘A is the brother of B’
IV. ‘A + B’ means ‘A is the mother of B’
V. ‘A = B’ means ‘A is the sister of B’

What does ‘P x R + Q' means?
(A) P is the nephew of Q (B) P is the uncle of Q
(C) P is the brother of Q (D) P is the father of Q

What does ‘P = R + Q' means?
(A) P is the aunt of Q (B) P is the sister of Q
(C) Q is the daughter of P (D) Q is the niece of P

Direction 54 to 56: Select the odd word/letter from given

54.

55.

56.

alternatives.

(A) Soldier — Barrack
(C) Letter — Word

(B) Principal — School
(D) Pages — Book

(A) MLNO (B) KIPQ
(C) IHRS (D) GFTV
(A) Monitor (B) Mouse
(C) Keyboard (D) Joystick

Direction 57 and 58: Point P is 9 m towards the East of point

57.

58.

59.

Q. Point R is 5 m towards the South of Point P. Point
S is 3 m towards the West of Point R. Point T is 5 m
towards the North of points S. Point V is 7 m towards
the South of Point S.

If a person walks in a straight line for 8 m towards
West from Point R, which of the following points
would he cross the first?

(A)V (B)Q

cT (D)S

Which of the following points are in a straight line?
(A)P,R,V (B)S, T,Q
©)s v, T D)V, T,R

In the following question, based on the given
statement which of the following conclusion(s) is/are
follow.

Statements: I. Some dews are drops.

Il. All drops are stones.
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Conclusions: I. At least some dews are stones.
Il. At least some stones are drops.

(A) If only | follows

(B) If only Il follows

(C) Both | and Il follow

(D) Neither | nor Il follows

Direction 60 and 61: In the following question, based on the

60.

61.

62.

63.

64.

65.

66.

67.

68.

given statement which of the following assumption(s)
is/are implicit.

Give answer:

(A) If only | is implicit

(B) If only Il is implicit

(C) Both | and Il are implicit

(D) Neither | nor Il implicit

Statements: Everybody loves reading adventure
stories.

Assumptions: I. The adventure stories are the only
reading materials.

Il. Nobody loves reading any other materials.

Statements: A advices B, “If you want to study
English, Join institute ‘Z".”

Assumptions: I. ‘B’ listens of A’s advice.

Il. Institute ‘Z’ provide good coaching for English.

A sum of money at simple interest amounts to % 600
in 4 years and ¥ 650 in 6 years. What is the rate of
interest per annum?
(A) 10%
(C) 12%

(B) 5%
(D) 15%

Ramu told his friend Shamu, pointing to a photograph,
“Her father is the only son of my mother”. The
photograph is of whom?
(A) Ramu’s niece

(C) Ramu’s daughter

(B) Ramu’s mother
(D) Ramu'’s sister

The cost price of an article is 60% of its marked price
for sale. How much percent does the tradesman gain
after allowing a discount of 16%?

(A) 25% (B) 40%
(C) 30% (D) 50%
When did the partition of Bengal take place?
(A) 1904 (B) 1905
(C) 1906 (D) 1911

Speed of a swimmer is 8 km/hr in still water. If the
rate of stream is 3 km/hr, what is the effective speed
of the swimmer downstream?

(A) 5 km/hr (B) 9 km/hr

(C) 10 km/hr (D) 11 km/hr

Fish can survive inside a frozen lake, because
(A) FisH are warm blooded animals

(B) Fish hibernate in ice

(C) Water under the bottom of ice does not freeze

(D) Ice is a good conductor of heat

Who founded Swadeshy Bandhab Samiti?
(A) Ashwini Kumar Dutta (B) Pulin Das
(C) Surya Sen (D) Barindra Ghosh

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.
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If the price of milk falls down by 20%, by how much
percent must a householder increase its consumption,
so as not to decrease his expenditure on this item?
(A) 15 (B) 20

(C) 25 (D) 12.5

The Governor of a State in India is

(A) Directly elected by the people of India
(B) Appointed by the State Chief Minister
(C) Appointed by the Prime Minister

(D) Appointed by the President

Who of the following compiled ‘AdiGranth’ or ‘Guru
Granth Sahib'?

(A) Guru Nanak Dev
(C) Guru Govind Singh

(B) Guru Teg Bahadur
(D) Guru Arjan Dev

A and B can do a work in 45 and 40 days
respectively. They began the work together, but A left
after some time and B finished the remaining work in
23 days. After how many days did A leave?

(A) 6 (B)8

(C)9 (D) 12

How many types of writs can be issued by the
Supreme Court?

(A)2 (B)3

(€)5 (D)6

In which sports Rajyavardhan Singh Rathore won a
Silver medal in the Beijing Olympics?

(A) Boxing (B) Shooting

(C) Kho-Kho (D) Billiards

A man Ioses12%% of his money, and after spending

70% of the remainder, he is left with ¥ 210. How much
money he had at first?
(A) X 840
(C)X720

(B) % 800
(D) 900

Daughter born to haemophiliac father and normal
mother could be
(A) Normal

(C) Haemophiliac

(B) Carrier
(D) All of the above

In the following question, based on the given
statement which of the following argument(s) is/are

strong.

Statement: Do discussions lead to solutions of
disputes?

Arguments: I. Yes, all the pros and cons are

weighted in their proper perspectives and the right
solution is reached.

Il. No, no one is really convinced.

(A) If only | is strong

(B) If only Il is strong

(C) Both | and Il are strong

(D) Neither | nor Il is strong

World Health Day is observed on which date?

(A) 11 March (B) 7 April
(C) 10 May (D) 13 May
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Who were the first Europeans to reach India for

trade?
(A) Portuguese (B) British
(C) Dutch (D) French

Which one among the following is the sweetest
natural sugar?
(A) Glucose
(C) Lactose

(B) Fructose
(D) Sucrose

The marked price of a watch was ¥ 720. A man
bought the same for ¥ 550.80 after getting two
successive discounts, the 1st being 10%, then what
was the 2"d discount?
(A) 14%
(C) 18%

(B) 15%
(D) 12%

In the following question, based on the given
statement which of the following argument(s) is/are
strong.

Statement: Should the major part of school
examinations be made objective type?

Arguments: . No, objective type examination does
not that the students ability to express.

Il. Yes, this is the best method of assessing one’s
ability and knowledge.

(A) If only | is strong

(B) If only Il is strong

(C) Both | and Il are strong

(D) Neither | nor Il is strong
‘Kumarasambhavam’, epic, was composed by
(A) Banabhatta
(C) Harisen

(B) Chandbardai
(D) Kalidasa

The average weight of 50 balls is 5 grams. If the
weight of the bag be included the average weight
increases by 0.05 grams. What is the weight of the
bag?

(A) 6.55 grams
(C) 7.55 grams

(B) 6.85 grams
(D) 8.25 grams

Blood transfusion is not possible from

(A) ABto O (B) O to AB

(C)OtoB (D)Oto A

If a3 — b3 = 56 and a — b = 2, then what is the value of
a2 + b2?

(A) 12 (B) 20

(C) 28 (D) 32

Which of the following dynasties succeeded Sungas?
(A) Satavahanas (B) Kushans
(C) Kanvas (D) Guptas

Dispute regarding the election of the President and
Vice-President are settled by

(A) Supreme Court

(B) Election Commission

(C) Parliamentary Committee

(D) Supreme Court and High Court

The Highest Common Factor of two numbers is 15
and their Least Common Multiple is 225. If one of the
numbers is 75, find the another number?

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.
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(A) 105
(C) 60

(B) 90
(D) 45

Blood pressure of man during running
(A) Increases

(B) Decreases

(C) Remains same

(D) Increase and decreases both

The value of (1 + cotf — cosecp) (1 + tanp + seco) is

equal to 2
(A) 1 (B)2
(€0 (D) -1

Operation Swarn is launched by the Railway Ministry
to improve services in

(A) Kalka Express

(B) Shatabdi and Rajdhani Express

(C) Tejas Express

(D) Kalka and Shatabdi Express

Epicentre is concerned with
(A) Earthquake (B) Volcano
(C) Cyclone (D) Land-sliding

Where is the unique tribal art exhibition titled "Silent
Conversation: From Margins to the Centre" for 22
National Tiger Reserves being held from 17-20
October 20247
(A) Mumbai

(C) Bengaluru

(B) Kolkata
(D) New Delhi

What recent development has been emphasized in
the 'Sagar Kavach' coastal security exercise
conducted by the Indian Coast Guard?

(A) Enhancing coastal security

(B) Humanitarian aid distribution

(C) Maritime trade expansion

(D) Maritime routes expansion

The physical components of a computer system is

(A) soﬁWare
(C) ALU

(B) hardware
(D) control unit

How much total funding has the World Bank and
Asian Development Bank committed for the
Amaravati capital city phase-l development?
(A) $1,200 million (B) $1,400 million
(C) $1,600 million (D) $1,800 million

Which company has been conferred with two
prestigious awards in the SHRM India HR Awards
2024 in the Public Sector Enterprises category?

(A) SUVN (B) NHPC

(C) NTPC (D) Suzlon

Which country was separated from British India by the
Durand line?
(A) Pakistan
(C) China

(B) Afghanistan
(D) Nepal

The first test tube baby of the world was born in

(A) USA
(C) Britain

(B) India
(D) France
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